3%,
6*.

KoHTpoabHasa pabota N2 6
«Popmynbl cnoxeHua. TpuroHomeTpuyeckue GyHKUUnN»
BapuaHT 2

YruopocTHuTe BbIpakeHHe:

a) sin(a — B) + 2sinfP cosa, ecan o +3 = m;
sin (g + aJcos(n - Q)
, O # M, ne Z.

6) cos® o +
ctg(n — o) tg

Breruucaunre cos 2005° cos1960° + sin1960° sin 2005°.
HNa3BecTHO, uTO cosa. = —0,6, g <o< .

Brruncaure: a) sina; 0) sin20; B) cos20.
IlocTponiTe rpadpuk pyHKIINU
y = sin Tx cos 6x — sin 6x cos 7x.

Brruucaurte sinl10°+ 2 sin 25° cos 35°.

INoKa>XuTe cIIpaBeJJIMBOCThL PaBEHCTBA

sin 51°cos 39° — sin 21°cos 9° = i

Omeembei:

1) a) 06) 1.
V2
2=t
2
3) a) 0,8 6) - 0,96 B) — 0,28.
4) N'padmK NOCTPOEH B peLueHUM.

V3
5)7

6) [loKa3aTenbCTBO B pelueHUM.



